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I. (a)Draw and explain a production possibilit
curve and show how it helps in explaining
the concepts of scarcity. choce and opportunity

COsl.

tby What is the effect on the Jdemand curve of a

commodity » when

(1} income ot the consumer changes
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(ii) change in the price of the commodity x
(1) change in the process of substitute guods
(7' 7)
(&) 3T THEA] 9% H DRI AU | [EIEH @i |

TAAEY T 9ER UE aF A9 UROTS - g1, T
T 3EE oNH FY eviE @

() @G x &1 HE TE G FA T I 2 TG (i) ITAIE
1 3 A TREAT B (i) T - x T Fg F eiada 6
(iii) wFwne gEgA F FEe W uRada

2. (a) Exptain the concepts of price elasticity of demand
and income elasticity of demand.

(b) Discuss the factors that determine the price

elasticity ot demand.

{¢) From the demand schedule given below, calculate

price clasticity of demand from A to C

Price Demand
A 9 10
B 8 65
o7 1o (5.5.5)

P.T.O.
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3. ta) Using inditference curse analyvsis show how the

consumer reaches equilthrium.

tby Show how the price-effect can be broken up
inte the income-effect and substitution effect
for an inferior good using inditterence curve

analysis. (7l 7)

(F y=a gw fasseer #1 gRmAn 3 ITie /e o

FHATY |
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(a) From the iable given below. calculate Total Fixed
Cost. Total Variable Cost. Average Fixed Cost,
Average Variable Cost. Average Cost and

Marginal Cost
Units of production: 0 1 2 3 4 5 6

Total Costtin Rs.y; 60 90 100 105 115 135 180

(b) Explain the producers equilibrium using iso-quants

and iso-cost lines. (9.6)

(F) v=F wH F IeMeA I FA ad g i

B

Jemed (T@Edi): 0 1 2

Lo
T
A
foaY

@E AR (T) ;60 90 100 105 115 135 180

T F FA o A, o aReadle we, stee R
ARTE A FAT |

P.T.O.
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5. (a) Explain with the help of diagrams the short-run
equtlibrium of the firm under perfect competition.

What is meant by the shut-down point ?

(b) State the salient features of an oligopolistic market

structure. {10.5)

(%) T &1 vl Fd gy, T aiE @ AN v w
T HETFTAS AIAT FH GHARY | wEES fa ¥ =
e 2 7

(@) yemiteR &, T o aheem g & 7

6. Distinguish between simple monopoly and
discriminating monopely. Show how the firm under
simple moneopely reaches equilibrium. Does such
a market structure produce tnefficient output
levels. (5.5.5)

fore twhEw vd oo vEifter ¥ IR wEne
fome vFiler & I v T a9 W & 8 0
F TH TR &t AR HIA, FHRAA Ieed &R Iea~
F B
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7. What do vou understand by economic rent 7 How do
the specificity and scarcity of factors affect economic

repnt 7 (13}
yife T ¥ ¥ wa gEed B wma @ ffimw v
FRAT e s W RE i we § 7

8.  Write short notes on any two of the following -
(a) Sources of gain from international trade
(by OPEC
() Principal — agent problem

(d) Relationship between Toral Utility and Marginal
Luility {7 TR

Pt ¥ ¥ B & w Afeey Rowi fefee
() ¥ =M | AN EHA

(@) ¥ Frams I = e

(7) -

(7) =a I 3 A= mfE ® 9" ey

{12000)



